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1, oa) 1 ow) 1 358
(a) o = glnx(tn+l) = Elnx(t%) = 5 n—0.26 = 1.311
5 (- 5 _ 1.311 _ 0.204
Vart + 6 Var? + 1.311°
5 _ 1311 _
(CNE_ oy 0.209 )
(b) t;, = 0.0l's, t; =0.11s
tn+1 - tl =nT
> =Y. -t=L -t =L ©011-00Ds=005s
n n+1 1 2 3 1 2 . . .
_ 2xrad _ 2mrad _
wy = T = 0.05s 125.66 rad/s
by = 12566 radfs a0y s
Vi-¢ V1 — 0.2042
t t t t
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z(ty) x(ty) x(ty) x(ty)
= x(ty) = Jz(t,)z@;) = +(3.58 mm)(0.26 mm) = 0.965 mm
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= —O 17(2 = .
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3. Ft) = FLot—t,) - (F—F)o(t—t,)
t > t, A uf
x(t) = xl(t) + xQ(t)
R o Conltmt) F —F, o Conlt=t)
= 7 1 — ﬁcos[wd(t—tl) - (,25] T 1— ﬁcos[wd(t—tﬂ - (25]
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4. k=50N/m, m =2kg (=025 =
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15N
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0, = tan 22T g1 202060 a0 519) = 0.479 rad
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mp(t) = 0.300 - 0.280 sin(xt - 0.479) - m (¢=0)
5. (@) 0<t<a & 4
z(t) + wla(t) = f, coswt (w*w,)
Lag = £ X(s) + wlX(s) = f
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(as + b)(32+w2) + (cs +d)(52+w3) = s
a+ ¢ =0, b+ d=0, w2a+wn2c=1, w2b+w,§d=0
= ¢ = —a, (wQ—w,?)a=l = q = 21 > c=—212
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fo s s
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z(t) = L Hx(s)] = wQ—wf ! 52+w3 _ o = w2—u)3 [coswnt - coswt]
(b) t>a &4 W
i'Q(t) + an a:Q(t) = f §5(t—a) (a>0)
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L't = xy(t) = wi sinw, (t—a)
B _fe o
z(t) = o,(t) + z,(t) = 5 5 [cosw,t — coswt] + sinw,, (t—a)
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mzié:—kz(ab—:rl) - cy = My Ty + €y - kyxy + kyxzy =0
[ml OJ ) N [0 0] T, 4 [/f1+k2 —ky {551} _ {k1y(t)}
0 mQ &:‘2 0 C J."Q _k2 k2 1'2 0
(©) my x, + (ky +ky)ay, — kyay = ky YVsinwt , myzy — kyx, + kyz, =0
O SECEL
z,(t) = X, sinwt, 7,(t) = X, sinwt
=S —mt X+ (k)X — kX, = kY, —myw X, — kX, + kX, =0
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